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=Year 11                    =Kinematics                    =Worksheet 4
	1. A particle moves in a straight line under constant acceleration of 2 ms(2. During a displacement of (5 m, the average velocity is 5 ms(1. Find the change in velocity. 

	2. A particle is projected vertically upward from a point 10 m above the ground and has a speed of 25 ms(1 just before it hits the ground. Air resistance can be ignored and the acceleration of the particle due to gravity is 9.8 ms(2 downward. Find the change in (i) the velocity, (ii) the speed of the particle.

	3. Refer to Q2. How long does it take the particle to reach the ground from the time of projection?

	4. Refer to Q2. Find (i) the displacement, (ii) the distance travelled by the particle between 
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	5. Refer to Q2. If the particle is projected vertically downward 10 m above the ground and has a speed of 25 ms(1 just before it hits the ground. Find (i) the change in velocity, (ii) the change in speed, (iii) the time it takes the particle to reach the ground from the time of projection.

	6. The x(m)-t(s) graph of a particle moving in a straight line is shown below. Find the velocity of the particle at 
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	7. Refer to Q6. Find (i) the displacement, (ii) the distance travelled by the particle in the first four seconds.

	8. The graph in Q6 is changed to a v(ms(1)-t(s) graph for another particle. Find (i) the average acceleration of the particle between 
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	9. Refer to Q8. Estimate (i) the displacement, (ii) the distance travelled by the particle in the first four seconds.

	10. The graph in Q6 is changed to an a(ms(2)-t(s) graph for a third particle. This particle starts from rest. Find the time when the speed of the particle is maximum.

	11. Estimate the time when the particle first comes to a stop momentarily. Note: Not at the start.

	Numerical, algebraic and worded answers.



1.  (2 ms(1


2.  (i) (45.7 ms(1  (ii) 4.3 ms(1


3.  4.7 s


4.  (i) +2.2 m  (ii) 9.9 m


5.  (i) (4.3 ms(1  (ii) 4.3 ms(1  


     (iii) 0.44 s


6.  (6 ms(1 approx.


7.  (i) (0.6 m  (ii) 8.6 m


8.  (i) (3.3 ms(2 approx.     


     (ii) (6 ms(2 approx.


9.  (i) +4.5 m  (ii) 9 m


10. t = 3 s


11. t = 0.7 s approx.
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